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#define XFFI1 XF3F2
V—ADIEHDDXFINZTXFH2IEZT A S (ERT S, )

EZEZTYIOEFELEY,
3{%5”1 *NU04,
XFH2Zx</ORRELD,

BEDEHEXFTH=-0. KEBFTIETIORBIZE /N FE
ALV E, (REAILIRBISEE)

1 ' 5 \
#define DATANUM 1000 FEELTEMIZLZFIE
DITEHRENH D,

)
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#difine 4l

#define  MEMBER 50 TRTSLISEITD
int main() FMAT—28DZE
N :7“
{ Eﬁ\ﬁ‘%' &%)o
double kokugo[MEMBER];
double suugaku[MEMBER]; REDEAEELL
double eigo[MEMBER]; EE DT Salgot
double rika[MEMBER]; %fﬁ%(vbnlj%é?
e [THZ &,
1L (REA JLIREIS )
INt main()
{

double kokugo[50];
double suugaku[50];
double eigo[50];
double rika[50];
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#Hdefine SIZE 4 E%‘:
1. ZHIT(EZRH) OEH
7‘:“(71’%%60
double X[SIZE]; 2. EETAWSERNIE
TE N THLTIFE LR
double x[100]; (EHMTIEETHI LI,

TE7ELY)
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char c;

char a[5];

Int 1;

Int b[5];

double f;

double d[5];

a[4]
FTOBRIER

‘ /' LAAESNEL.,
C

a[O](a[ll f al2] fa[3] ( 3[4]‘ a[5](&AL

a[5]="A"; NG
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PP O O O
b[o] b[1] P2l b[3] b[4]
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{

/*

/* test_array.c FEgHIEER JAVRERR */
#include <stdio.h>

#define SIZE 4

int main()

double a[SIZE];
double Db[SIZE];
double c[SIZE];

/> BEHERADHRKA*/
a[0]=1.0;
1=1.1;
1=1.2;
1=1.3;

L o
W NP O

0]=2.0;
1]=2.1;
2]=2.2;
[3]=2.3;

olieliclie}
WN PP O

RIzHE< */

it
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/*

c[0]=3.0;

c{1]=3.1;

c[2]=3.2;

c[3]=3.3;

/*TREST-KA*/
b[4]=2.4; /*FEE N>/
b[5]=2.5; /*FEE N>/
/*ERSINBRR>/
printf("aJO0] =%f ¥n",a[0]
printf("a[1] =%f ¥n",a[1]
printf("al2] =%f ¥n",a[2]
printf("a[3] =%f ¥n",a[3]
printf("b[0] = %f ¥n",b[O]
printf("b[1] = %f ¥n",b[1]
printf("b[2] = %f ¥n",b[2]
printf("b[3] = %f ¥n",b[3]

RIZH5<

*/

N N o N\

N o o

11




printf(""'c[0] = %f ¥n",c[0]);
printf("'c[1] = %f ¥n",c[1]);
printf("'c[2] = %f ¥n",c[2]);
printf("'c[3] = %f ¥n",c[3]);

/*EEST-EEHNERDSIE*/

printf("'c[4] = %f ¥n", c[4]);
printf("'c[5] %f ¥n", c[5]);
printf("'c[6] %f ¥n", c[6]);

return O;
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2 X JtiEc 3

—
=1

[l

B2RODT—H2E BEIRBR[TOERK][INOERI];

Bl | #define  TATE 5
Hdefine YOKO 3

double M[TATE][YOKO];

EARYANY sl
EeS & [RF11HRF2]

TEEDZEHDLOIFZS,
=, HFFICIT(BHED)
THOXBFEZSD,




2RTTEEHD A A—

2RTESIDNES
double mM[TATE][YOKO];
i3l
m[0][0] | m[O][1] m[O][j]
m[1][0] | m[1][1] m[1][j]
19T | m[il0] | m[ila] m[il[i]

mM[TATE-1][YOKO-1]
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2 RITTECH| TELBHSMEHEL

X EELN HMEOEEDLSIC.
NI TRRYULDILMELHELY,

m[i, J] NG

EHELN2
EEIDRFEANBZTLEDILREELY,

mlilL] ®2¥vYT. m[li] &<

NG
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TR 2

/* tenchi.c 2XTEHIEERGEEELITHI)
OAREER
>/
#include <stdio.h>
#define GYO 2 /* ANINBITHDITDE >/
#define RETU 2 /* AAINDITHDFIDE */
INt main()
{
/> EBBIDEF */
doulbe X[GYO][RETU]; /*AASNT=1T5I*/
double tx[RETU][GYO]; /*Ex&E 175>/

/< RIZHE<*/
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/* TTDEZRDASD */
printf("x[0][0]?");

scanf("%olf", &x[0][0]):;

printf("x[0][1]?");

scanf("%lf", &x[0][1]);

printf("x[1][0]?");

scanf("%olf", &x[1][0]):;

printf("x[1][1]?");

scanf("%lf", &x[1]1[1]);

/> ERiE1THIDETE */
tx[0][O0] = x[O][O];
tx[0][1] = x[1][O];
tx[1][0] = x[O][1];
tx[1][1] = x[1][1];

[ RN Hw<*/

L/




/* ADSnTf=ATHE TDEREITIIDRTR™/
printf("'xX¥n");

printf("'%6.2f %66.2f ¥n", xX[0][0], X[O][1]);
printf("'%6.2f %66.2f ¥n", xX[1][0], x[1][1]);

printf("xDERE 1T5¥Nn");

printf("'%6.2f %6.2f ¥n", tx[0][O], tx[O][1]);
printf("'%66.2f %6.2f ¥n", tx[1][0], txX[1]1[1D);

return O;
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% RITECS

m}
[l

E\Y

-

—5E FHIZB[RTIDERY[RT20EZRH][RITIDERE] - ;

1

#Hdefine TATE b5
#Hdefine YOKO 4
#Hdefine OKU 3

double cube[TATE][YOKO][OKU];

ELNHT=

BS54 RF1]RF2][RF3] -
TEBEODEHDLSIZONZS,
- RAFIZITZ(EBHED)
EHOKXELFEZAS,
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SRTEHN DA A—

cube[0][0][0]

cube[2][1][O]

cube[O0][3][2]

cube[4][3][2]
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THIRDEFHE TS0 L
/*
£ B : yyyy/mm/dd
{ERE : ANIEKER
T EE RS BOOBOXX
YV—RXTJ74)L:determinant.c
F£1TT74 )L :determinant
SRBR: 2 X 21T DT RESE TS0 3 L,
AN BEAADSTIDADDDZEANT S,
THDORRIETETIEEDOERIELET S,
RICITTOERINEHELTANINSGET S,
H O ZBEHDIZADSINT=THD
THIKDIEZE T S,
THIRKDEITERIETHS,

*/
[* RON—2 (il */
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/> fGiE >/
#include <stdio.h>

/*OOFEFE>/
#define SIZE 2 /* 175D RT */

INt main()
{
/* TR ERIIDEE *
double matrix[SIZE][SIZE];
/* ANSNF=175] */
double det; /* {THlmatrixD 1T DIE */

/* ROR—|25:L >/




/> fmE >/
/* FTHIDERTDANI*/
printf("matrix[0][0]?");

scanf("%lf", &matrix[0][0]);

printf("matrix[0][1]?");

scanf("%lf", &matrix[0][1]);

printf("matrix[1][0]?");

scanf("%lf", &matrix[1][0]);

printf("matrix[1][1]?");

scanf("%lf", &matrix[1][1]);

/* ROR—|ZH:L >/
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/* & */

/175X DETE>/
det = matrix[O][O]*matrix[1][1]
- matrix[O][1]*matrix[1][O];

printf(""1751 matrix :¥n");
printf("%06.2f %06.2f ¥n",
matrix[0][0], matrix[O][1]);
printf(%06.2f %06.2f ¥n",
matrix[1][0], matrix[1][1]);
printf("D 175 IE. ¥n");
printf("%66.2f TY , ¥n", det);

return O;
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E1T4

$./determinant

matrix[0][0]?1.0

matrix[0][1]?2.0

matrix[1][0]?3.0

matrix[1][1]?4.0

175 matrix :
1.00 2.00
3.00 4.00

D 1THIZC(E

-2.00TY,

$




